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S8 Use ouly black or blue mkpcn towrite the exan,

A Draw Lh.“\l diagrams w hcn.\mrnu.usxm)
‘ PART - I

: i) Answer all the questlons :‘," f.3 8 ' ' -145<1 =14

i) Choose the most approprinte answer from the glven four alternatlves and write the
option code and the correspondlng answer - ‘ '

L. Au{n,b al, B=123),C {p,q.l',b} thum[(AUC)\B) is _ N

a)b b)°0 o)1 1" '1‘ d)'lG '
" 2. f(\) (\+l) (\-l)‘mpn‘qentsafunchon which is :
T a) lmcar i b) cubm t.) reuproml d) quadratxc o )
3. 7%= ....... (mod 100) Yo %> R e j
BEETE q;; 8.0 TR . |
| 4. The m;xt;term of thp éequence l3 —;- '-1;; 'il- 15 ‘ ‘, T MPOOV&I&S&HM Sc B.Ed
o N S o PGAsstmchemlstry
‘a);.% _ b)% N c)‘-§ : .d):§l'f« Dharmapun dlstnct

5. Which of the followmg_‘ should bc, added to mal\e \4 +64a perfect square? .;-

R ."»-

‘n)-l\'- IR U R To 8, d)-S\-~ B R e
6. 'I‘mnspme of a column matrix is . 3 A 5, o L

a) unit matrix ) dmgonal nntn\ c) column matrm . d) row matrlx
7. 1A ABCi isan 1soceles trmngle with £c~90 and AC S cm, ‘then AB 1s | '

‘a)”Scm b)Scm E } ¢ 10cm ' d) 5\[3 cm L
8. The two tnngtnts from ank c\terml pomts~ Ptoa cu'cle with centre at O are PA and PB "y

If ZAPB= 70 then the value of ZAOB i is i R “ | ‘
Q1000 BT . 1200 d) 1300 ‘ ‘
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9. The point of intersection of 3x - y =4 and x+y = 8 is
2)(53) b)24) 9 B5) dj (44)
If the ratio of the height of a tower and the length of its shadow is /3 : 1, then the
angle of elevation of the sun has measure |
A48 b3’ 99’ -~ dyed’

11. The slant height of a righlt circular cone whose radius is 5 cm and height is 12 cm

will be

a)12cm b) 10 cm c)13cm d)5cm
12. A frustum of a right circular cone is of height 16 cm with radii of its ends as 8 cm

and 20 cm. Then, the volume of the frustum is ' ’

a) 3328 7 cm® b)32287cm®  <)32407cm® d) 3340 7 cm®
13.  Variance of first 20 natural numbers is \

a) 32.25  bj442s c)33.25 | d) 30
14. The set of all possible outcomes is called ’ |

a) event " b) sample spac"e - ¢) sample point ' d) probabilitj}

~ PART-II ,

Il Answer any 10 questions (Q.No:28 is compulsory). | , 1,.0x2=20 '
15, 1f AxB = {(3.2), (34), (52), (54)} then find A and B. | |
6. If f(x) = 2x-k, g(x) = 4x+5and fog = gof, then find the value of k.
17. Which term of an'A.P 16,11, 6,1 .......is -542
18. Find the LCM of the following 5 x - 10, 5x2 - 20. ;

Determine the nature of roots for the following quadratic equation 2x - 2x + 9= 0.

5 2 2 |

| R PRSI

20, IfA= 2 | then verify (A') = A,
8 3 1 o

21. A tangent ST to a circle touches it at B, AB is a chord such that £ZABT = 65". Find

Z AOB, where “O” is the centre of the circle.
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Find the slope of a line joining the given points (-6,1) and (-3,2).

Find the angle of elevation of the top of a tower from a point on the ground

which is 30-m away from the foot of a tower of height 10/3 m.

A cylindrical drum has a height of 20 cm and base raidus of 14 cm. Find its curved

surface area.

If the ratio of radii of two sphereé is 4 : 7, find the ratio of thei‘r'vol'umés'.

Find the range and coefficient of ranige of the following data : 25,67,48,53,18,39,44.

°

| Tw'? coins.are tossed together. What is the probability of gettihg different faces

) .
Prove that sec” @+ cosec’=sec*@ cosec?d

- PART -l -~ _
Answer any 10 questions (Q. No: 42 is compulsory). - 10x5=50
Let A = { x ew/x <2}, B = { Xe N 1< x, < 4} and C = {3,5}." Verify that

A x(BnC) = (AxB) n(AxC)."
Letf A ~> Bbeafunctlondefmed byf(x) == -1 whereA {24 6, 10 12} B= {0 1, 245 9}

Represent f by (i) set of ordered palrs (11)_ atable

(111) an arrow’ dlagram ~'(iv) agraph.”

'Find the sumton terms of the series

5+ 55+ 555 + ....... ' |
The sum of three consecutive terms that are in A.P is 27.and their product is 288.
Find the three terms. - | '

If 9x* +12x° +28x” +ax +b is a perfect square. Find the _vélues of a and b.

State and prove Angle Bisector Theorm.

128 "

17 |

529y |, A

IfA=( ) B= |1 2 | Verifythat (AB)" =B" A’
51 T

Find the equation of a line which passes through (5,7) and makes intercepts on the

axes equal in magnitude but opposite in sign. ,
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cosa cosa 5
If =M and —— > =" then prove that (m* + n%) cos*f =n*.
cos /3 sin P _ ( )
If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm,

find the volume of the frustum._

A conical flask is full of water. The flask has base, radius r units and height h
units the water poured into a cylindrical flask of base raidus xr units. Find the
height of water in the cylindrical flask. |

. Find the mean and variance of the first n natural numbers.

Two dice are rolled together Find the probability of getting a doublet or sum of
faces as 4. ' _‘ S C . )

Pand Q are the mldpomts of the 51des CA and CB respectlvely of a A ABC, right
angled at C. Prove that 4 (AQ + BP ) =5AB.

_F.’ART- v
Answer aII the questions. o ' B 2x8=16
Draw the two tangents from a point whxch is 10 cm away from the centre of a c1rcle ;
of raldus 5 cm. Also, measure the lenghts of the tangents.
[OR]

Constracta A PQR which the base PQ 4 S5em g R=35" and the median RG from Rto
PQ is6cm. _ ¢ i

Drawthegraphof Y £3 —4x+3anduse1ttosolve x P 6y +9= () |

[0R]

1 ' ;
Graph the followmg Imear functlon y --':,Z'"«\ Identlfy the constant of varlahon and

ver1fty it w1th the graph , D
Also i) find y when x=9. . ii)find x when y =75. "
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